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1.1 9pbbwlwl whwnnypubp b % X 1087 650.0 X
gpuublywlunht wmpbn B
111 fanina Ad [0 Lig 0000 350 000,0 350,0
172 |Rrunp A dwlhoh TZ | hwn 250.0 12500 5.0
1.1.3 fenpwuuwtiuly juwbpg @ihg (23 beun 100,0 15 030.0 150
i.1.4 fenpuwuwiwly wrwgwiun td hwtn 100,0 10 020,0 100
i.1.5 (enmwuwiwl nbghuwnpwennp 80 i [o14 hwin 1000,0 60 000,0 60
1.1.6 fAnmuwyywlnl) nhyhunpuinnp 80 i [ hwin 1000.0 50 000,0 50
11.7 Anpuuywlwl nbahuwnpwwnnp 40 i (224 hwwn 1 000.0 50 000,0 50
i.1.8 ranpwywbwly Undgudny drwp &< b 100,0 5000,0 50
1.1.9 Tinjkdbipw)pl pryzwywiul [ hwwn 250,0 50000 20
1.1.10 Lonudubph e tnwlnhpnd o hwwn 1400,0 28000 22
1211 Lonuitbph e Yugni £ husn 300.0 9 000.0 a0
1.1.12 Lonuibph pnunp Yusnia [ A 300.0 18 000,0 £0
1,513 Lonuiubph pninpe Yusniu [ Auwn 300,0 3 000,0 10
1.i.14  |Opwghn < hwn 1 500,0 22 500.0 15




oW LS Lnpwunbuin ujwpnyplibpny [ hwwn 200,0 2 000,0 10
1.1.16 Lnpwwnbunn oLl hwwn 500,0 15 D00,0 30
1117 Shpp Ywpbint Yugd [ hwn 150,0 18 000,0 120
1.1.18 PQuubiwly 16 Jd tnpwdwagdnu (24 huwwn 25,0 7500 30
1019 |Ruywlwl 20 d¢ npwdwadnyg [l hwn 50,0 1500.0 30
1.1.20  |Utndwl 19 4 [ wnnuth 300,0 3 000,0 10
1.1.21 Ubirpduwl 25 U [ nnuh 720,0 16 000,0 25
1122 |UGnduwl 32 0d L wnnuh 960.0 96000 10
1.1.23 Udpwl bplwejw [ wnnith 180,0 9 000,0 50
1124  [Ynbigund TEnug [t innith 100.0 30000 30
1.1.25  |UYypwen 23 hwwn 230,0 2 300,0 10
11,26 Uwinpun-unuplid [ huwwn 350.0 28 000,0 80
.127  |Uwwhwn-uruhud (4 hwwn 350,0 5 250,0 15
11,28 |Uwunhin HB [ hwn 100.0 20 000.0 200
1129 Thutnuly qpunblyuljughh 18 G [ hwin 100.0 2 000.0 20
1.1.30 hwlwly gpuubbyjwljught 9 U [+l hwun 100,0 2 000,0 20
1.1.31 (Hawnhu o< hwu 100,0 7 500,0 75
1.1.32  |Mnnhs gnhs Gl hwin 400.0 40000 10
1133 |Qushs Yrapuny oL hwwn 220,0 28 600,0 130
1.1.34  |9phs quahljudep Busympn [ hwin 20,0 24 (00,0 200
1.1.35  |9nhs quahlw.np ult ol hwwn 20,0 6 000,0 50
136  |9phs quhlwnp Yupdpn o< hwn 20,0 2 400,0 20
1.1.37  [Sphs quahlwnp Quiwy el hwun 20,0 1200.0 10
1.1.38  |9phs abnd Guwnyn {14 hwn 1500 4 500,0 30
1.1.39  [9phs gbpnd ul L hwtn 150,0 2250,0 15
1,140  |Uwplbp wbpdwbbbn Yuplhp o< hwu 280,0 4200,0 15
1141 U plip whpdwiGin ul [ hwin 260.0 4200,0 15
1.1.42 Uwplbp wbpdwbbinn Juwwnywn [ hwwn 280,0 4200,0 15
1143  |Uhwplhp CD-h ol huwin 400.0 2 000.0 5
1.1.44  |Uwplybp wbpuinwht Guwpdhp [ hwin 250,0 6 250,0 25
i.1.45 Uu.pybp inbpunwht fubws o< hwu 250,0 5 000,C 20
1.1.46  |Uwnybip inbiguinwihl nanhu G hwwn 250.0 6 250,0 25
1.1.47 Ywnlht 40 ud b wdbh oipwdwgdng [ hwwn 1800,0 3600,C 2
1148  [Mnnuunnk prtsnts 30 ud o hwun 3000 3000.C 10
1.1.49 Mnnuwink putints 50 ud L hwn 550,0 5 500, 10
1.1.50 Uphs Jwinfinh s hwn 50,0 6 000,C 40
1157 |Uphg ubquibiht wdpwagudnn < hwn 28C0,0 2 500U 1
1152 |Sundhs ubnuith %< | hun | 30000 15000,0 5
1.1.53  |Opugnyg ubnuih 2 huwtn 00,0 G 00n,o0 i
.1.54  |Opwanyg ywwnh 5L huin 3 600,0 18 000.0 5
1.1.55 Ubinwth epwgnigh nwlnhp e hwn 1400.0 1400,0 1
1.1.56  |<< pupinbg Lwpswlwb dbd < huwwn 4000,0 12.000,0 3
1157 |LN€ dunswlwl pupintiq Utd 14 hwwn 4 000,0 12 000,0 3
1.1.58 Lwphy N 10 20k (2 hwwn 700,0 3 500,0 5
1159 |Gwply 24/6 £ | huan | 1350,0 6 750,0 5
1.1.60  [4wphy 26/6 < hun 1350.0 6 750,0 5
i.1.61 Ywphsh wubng N 10 o< nnuh 00,0 2000,C 20
1.1.62  |“4wphsh wubn 26/6 o< wnnuth 200,0 2 000,C iC
1.1.63 U wiluphy o8 hwwn 250,0 750,0 3
1.1.64 | wlps 5< | huwn | 30000 15 000,0 5
1.1.65 "Hupwbiibp GpljwEw s huin 3000,0 300000 10
1166 |Lpwlugd jol hwn 4000, 40 0C0,0 10
1.1.67  |Uyns prchustsghly [ hwin 30,0 1500.0 50
1.1.68  |Uyns pwihwlighl dbd {14 hwwn . 250,0 11 25,0 45




[ 1169  |Rutiwp Guugnyn [ husn 750.0 2 500,0 10
1.1.70 Unuhinnph dwppdwls hennly 29 huwin 1600,0 16 000,0 10
LI71 |upwpAd [ huwin 50,0 2:00,0 35
172 |[OpwpAS (24 huwwn 20,0 500,0 25
LIL73 | Puwilinb wywuiwub 30 ud (7S hwn 350.0 52500 15
1.1.74 dwpywlwt pwpuinbg PLUC | hwwn 15000 4500,0 3
1175 |Upwquluwp POUS | hwin 10C,0 13 000,0 130

Li}i‘;ﬂ"‘" KB, t¢ | gpwd | 10000000 | 1000 000,0 1
1.2.1 Hiylyw [ hunp 1500,0 $ 000,0 6
1.22 Qubnughl pwthnk < buang 15 000,0 285 000,0 19
1.2.3 Fpluipwph subnunhl gifuwey (Gouh) [ hunp 1400,0 8 400,0 6
1.4 Vwyljw o< huip 35000 21 J0U B
125 :"l’f:?"”-"“f’w"" upkriony t< | putz. | 130000 78 000,0 6

2. [Fhpphph, wiuwgpbkph PLUL | ppwd | 350 000,0 350 000,0 1

3. Yhkugwnuwjhu Unuebp 935790,0

3.1. Uwtihhghbthy dhengtbp X X 485 790,0 X
31 Litstinnghly s nnuf 130.0 32500,0 250
3.0.2 tunbiwy whsknaghly (24 ) 19C,0 3 800,0 26
3.1.3 2niquinusbih gom@ [ hweyr 10C,0 35 000,0 350
3.0.4 $npne pnp 2 iy 15C.0 22 500,0 150
3.1.5 Lunplin 2an [ huwip 900,0™ 22 500,0 25
3.1.6 Unupph 2np [ huweg 1600,0 32 000,0 206
3.).7 Upply dtingh, tiptuf (29 hweyr 750,0 15 00D,0 26
3.1.8 Upphs wJwbh 2 iy 450,0 4 500,0 0
3.1.9 Ywppnn Uhpng « Chaljow » < huien 270,0 5 940,0 22
3..10  |Lywgph Jhpng « BINGO v dbinph 24 hwe 620.0 24 800.0 40
3001 | Ul plasbusne higniy Tl | huwegp 500,0 5 000,0 10
3.1.12 Uwhipegbgling nbnnds « dwlby » o< i 260,0 6 500,0 25
3.1.13 Uyl Swpntir htenad %S R 400,0 B 000,0 20
30114 Ynwink Jwppbin dheng [ huwy £00,0 4 000,0 10
3115 | 2nquipeish tlupplin htmely i huiep 1 000,0 0 D000 10
3.1.16 Ywnibig [ bt 30,0 1500,0 50
3117 Oduwn 100 g (7S hiwyr 240.0 24 000,0 100
3.1.18 Obuwin uaynyin (7S hunp 150,0 7 500,0 50
3.1.18 | <bgndy chwn [ { 520.0 23 400.0 45
3120 | Ofuwnusiinl < hup 1 6010,0 16 DO0.0 10
3.1.2 Lywquwiti dwpnbne funquibwly (2 hwqp 500,0 3 500,0 7
3.1.22 | Cwywl g dngunfiwgg o huwin 1000,0 6 000,0 ]
3.123 Uiy [ hunp 900,0 36 000,0 40
3.1.24 | 9nquphusl unquibudyny [ hwyr 1000,0 5 000.0 5
3.1.25  |%nquahusly dannd [ huwep 14000 2 800,0 2
3.1.26 Tnyp 10 28 W 600,0 9 000,0 15
3.1.27  |Unpuddwl Gndydrn yunhuppsng (72 hweypn 3 000,0 18 000,0 6
3.1.28  |Unpusiwt dhipwrpe dnfupwdubng [ hwy 7 000,0 35000,0 5 |
3.1.29  [Unpuaiwl nignubigmb [ hwip 35000 35 000.0 10
3.1.36 | Znipwaqbndhs (=4 huwyp 370,0 5 550,0 15
3.1.31 Suwfuwin [ hwen 1700.0 25500,0 15

:lzln f:'"'h““'"‘""' & gy Ghpnglitp, ugn apand | 450 000,0 450 000,0 1

L

Upuldwi depbbus 3WBS-16E2 PRUL | hup 6 300.0 12 500,0 2

Nwuipdwob pady pwa. 500 |, UL | hwyp 47 040,0 47 040.0 1

Uhwly whrowl G Ui PRUL | huep 300,0 45 600,0 152




Ufuyly whiponwy & Jif PCUL | fungp 30,0 3120.0 104
Ygnpnfs (ipnigbn} PLUC | fhwn /0.0 43 400,0 620
4. Cwwnml tywunwlught % % 3054 800,0 X
wy) Wynuebp
4.1. Thuwyyniz X X X 779 700.0 X
Lbpl (15 L napus) POUL | hwen | 310000 217 0000 7
Lbply (15 Lg vnwipw) PCUL | Huwen 30 000,0 24C 000.0 8
Lbnl dusiguijuymits (lienbin 1 gg) PRUL | fuen 1 800,0 1 800,C 7
Lbnl duilbquaywimits {Unfupwg. 4,5 4g) PCUL | husgs 6 400,0 6 400,0 !
Lbnly brippn (1 4q) POUL | hunn 21€0.0 21000 1
Lbpy (2,5 lq) PCUZ | e 5 900,0 5302,0 !
Uefinty FRUL | hwnn 1550,0 13 500,0 10
LnYwpninp PLUL d 15000 45 000,0 30
dUnghl FLUL | fhuin 500,.C 16 0C0,0 20
dpihb PLUL | huwip 500.C 500,0 !
Updhb PRUL | huien 900,C 900,0 !
dnaghb PLUL | frug 650,0 1950,C 3
duhly PLUC | husep 750,0 16 500,0 22
Jehly PCUL | hwin 3500.0 7 002.0 2
daghlih wing PLUC | hwen 4000 23000 7
deasgpish wins PRUL | hunn 500, 1 000,C 2
Huifilsh dnn PCUL | huwin 3000,0 3002,0 i
Yuwihiph unfush POUL | i 2000,0 4003.0 2
Lndfss 1) PCUL | hwen 1100.0 12100.0 1
Zahwpariah patiwly POUC | huwn 2000.0 10 000,0 &
Ulns PCUL | hwep 700,0 1400.0 2
glidbun 50 Lg FOUC | fhunn 3 360.0 30 240,0 9
gbdbun 25 g uwyhwnuwly PLUL | fwen 44400 222000 5
wijwg Gwpguht PLUL | huia 300.0 9 300,0 30
quso 10 g POUL | hwen 1800,0 9 000,0 5
que 45 Ug PCUL | 17C0,0 8 500,0 5
MU unuhba 3 g PUUC | hungn 3 3600 3 360,0 ]
fuwpud PRUL | hud, 25000 50 000,0 32
swndwbljw pphggh PLUL | e 3 500.0 7 000.0 2
Twpdwllh quy. PRUL | fhwen 1500.0 1 500,C 1
0.0
4.2, Cwlwluwplunwght Yuywtttph
uwwuwnydwh Yympbp. win pdoud’ x 2 S0 000;0 :
4.2.1
4.2.2
4.2.3
0,0
0,0
0,0
4.3. Stjutihjuwlwb uwppbp, Wnptp b X X 8751000 1
wuwnwaqutbp
Tsnfnfuwpet VX - 2100 PRUL | huwien 195 C00,0 195 000,0 !




Lhnufune Parasonic ROLL | hweyp 36 000.0 36 00,0 7
®ph wndwy CCP 158 PRUL | hwer 36 000.0 380C0,0 7
B wndwy Simgi PCUL | hwiyr 175 000,0 175 000,0 /
Nndugh pwpquadnghs PCUC | hwip 11 000,0 11 300.0 1
Puwynb 12 wy. PRUL | hweyr 10 000.0 10 0000 !
Sph pwpwigmighs PoUL | hwep 23 000.0 23 000,0 !
Uy wwprwgwlil PCUC | gl 52 800.0 52 800,0 )
LZoquiynya Sinew AL PCUC | hunp 1 0000 10 000,0 It
2nnwigniye winug PRUL | hwen 45000 22 500,0 5
2Epdupie uniushmlhg PMIC | hunp 2500 500.0 2
Shgnbenalpguaht nahtblp PCUZ | g | 1000,0 1000,0 7
Uwpuplyng 12 | 7 w'd PCUL | fwgr 10 000,0 40 0CO,0 4
Uuwpplyng 3,7 | 2000 dw/id foni pniy! PLUC | hwep 3 500D,0 42 000,0 12
Uwpiyng 1.2 | 2200 Jw/d UL PCUL | b 1800,0 10 800,0 &
4.4. Uy yniptip b wwpwquwlbp,
s ik X X 900 000,0 900 0000 1
hbpbwlusad pwnwlips Jopuiidy PRUZ | gad 343.3 733289 N3.6
Phpbwijysmb punuwbie Quwogyy PRUL | gad 343.3 36 6711 106.8
Nopbwlyuysnib pwwle UNL inga’ PLUC | hwip 25040,0 10 G000 4,0
Hlpbwlpysmb pwwlire AUNL (ngn’ PCUL | fwegr 20C0.0 48 000,0 24
5. Spwhuwnpunught yynupkp X X 19 460 000,0 X
5.1.dwnb hph Swiuubp X X 19 460 000,0 | 42500,0
5.1.1 Phightt 5 ! 460,0 15 410 000 33 500,0
5.0.2 Thatuihts wnbihp nL ! 450,00 4 051 000,0 4 100,0
6. Cwdwlwpgswjpu b
AREEARaR ec | x X 2703 600,0 x
uwppwynpmudubp L yympkp,
win Ry’
6.1 Ludwlpuipghswyhl hwdwpaidn: 5L hurnp | 350 COC,0 350 000,0 1
6.2 Swdwlingfsughls hwdwpadne [ hurg 240 000.0 960 000,0 E
6.3 Lwdwlpupgswhte Yhnbn puipp L huwigp 4¢ 000.0 120 000,0 3
G4 Sundwlppapgsug it drbifigep o< fuyr 70 000.0 210 000,0 3
65 ::ﬁ:z‘”;o {:‘;’ﬁu“;";’ﬂpz‘g""“ 5¢ | hugp | 190000 76 000,0 4
6.6 YGA thnfuwnlifs oL huwin 4 500,0 18 000,0 gl
6.7 YGA hwnnpnuywn (16 dignwbng) oL hutg 12 000,0 48 000,0 4
8.8 USB HDD external Itb 5L hunp 42 000,0 42 000,0 !
6.9 Luperpy Canon 303,Q2612 [0S Sieang) 42 000,0 42000.0 i
6.10 Rwnenpy Canon 275 oL faip 33 0UD.0 33 000,0 i
en  [Drerevpnily AP 1010 Q6L pupepheh | re | punp | 30000 18 000,0 6
hwdwn i :
6.12 :ﬂl‘g”: vpnily Canon 728, 275 pupinrish | oo | punn | 30000 9000,0 3
6.3 ju’:n"’:ﬁd""""‘ uf‘:u;‘“ Ehemteren 6¢ | hup | s0000 12 D000 2
Toner Cartridge Conon iR 2420 I
6.14 b st s e el husp 2C 400,0 20400,0 !
6.15 Snbitip Toner HP 1200, [l husip 14.000,0 14 000,0 i
6.16 Snbibip Toner P 1005/1006 [l hunp 1500,0 7500,0 5
6.7 Snlifin Toner for Xerox Phaster 3124 & huwip 2000.0 20000 1,0




6.18 Lnrpprig Ge. hunp 238 000,0 238 D000 1.0
6.19 Unbpinn (4 husp 97 000,0 97 000.0 1,0
6.29 Swhquifits bndnupwepnn (Switch) (59 hup 52 0000 104 000U 2.0
0.2 Cuybipunphy hfipnnniinid (28 b 21 000.0 42 000.0 2.0
6.22 Cugpunphif hlonnniinid) < byt 11 000, 22 000.0 2.0
6,23 Lnzyr wlpanfusnud; [ huip 27 20D,0 54 000,0 2,0
6.24 US8 bz hppnnnyanel 32 G3 < T 0 200,0 10 200,0 1,0
.25 USB Pitix hhananiainl 16 GB L hwen 5 500,0 5 500,0 1,0
6.25 USB $ilsp hhprnniainek 8 5B (o4 huip 4200,0 21 000,0 5.0
6.27 Sunfuspuwngiushb yhnbin pwpip 20UL | b 22 5000 45 000.0 2.0
6.29 Luniwlpwnagiushb Jhnlin pumg 20U4 | hwn 33 000,0 33 000.0 1.0
6.20 Lianppogh wayniwwl =it hwin 5 0000 50000 1,0
6.30 PC LAN FCUL | hwin 3 000.0 6 (00,0 2,0
6.31 e yufughly PCUL | hwip 4 000,0 § 0000 2,0
6.32 Uty wityusn PRUL | hwg 11 .000.0 11 000,0 1.0
6.33 Lwwlwngswiht wipwtowluw POUL | hwp 5 000,0 10 000,0 2,0
.34 1 hwdwlpapgsuyht ngelip PRUL | growd 10 000,0 10 000.0 1,0
7. Cwljwljwpluuwghl
wjwhubph uywuwpldwy
PAINRREph uRenunh 450000 | 945000,0 21
hwifwp vwppbp b
uwppunpnudubp
7.1 Vwpipgng 100 A POUZ | grwd 45 002,0 945 000,0 P
8. Nwnhnpnljughnt fujwttbph
uyjwuwpldwl hwdwp uwppkp L 4500 000,0 | 9000 000,0 2
uwppuinpnudokp
8.1 Uwaltibppnk MY 316 me hunp | 4500 000,0 9000 000,0 2
82  |Uwatibqpnk M 297 mo | punp | 1500 000,0 | 1500000, 1
S e s . peuc | gpus | 37000 | 259 000,0 70
Entwinpkp
a.i Qfrpnbwn POUL { 3700,0 259 000,0 70
10. Spwubljwlwht gnyp PLULS | ppwd | 65 000,0 65 000,0 1
0.7 Ubyunjw wuwhwpwl POUZ | hunp 65 000,0 65 COC,0 1.0
11. Spwubtywluwiht yuwhnyp T< X 776 200,0
01| Whudunh shqwt t< | hwip | 1000000 100 000,0 1
.2 rwgwhwrwls ol Pyt 70 000,0 70 000,0 1
1.3 | <wduhunquahl ubquis c¢ | pwy | Z0o000 20 00U 1
1.4 Lunlwlwpnquughb wipnn (4 hungp 25 000,0 200 000,0 B
.5 Uwhdwlpun [ P 54 300,0 219 200,0 4
1.6 Unn tiuyyw o< Fawyt 2 000,0 72 000,0 B
7 wublyuwlughl wenn POUL | Py 50 000,0 50 Qoc,0 1
1.8 Luylyh POUL | Funp 25 000,0 25 000,0 1
n7 Lo POUL | Punp 20 000,0 20 000,0 1
12. Hennpuyp b pdgwluwbiugy | e s | 1000000 | 100 000,0 1
{dhonglibp b wwpwquwlbp
13.Uygunndbpbwibp &< hwy | 5500 000,0 [ 11 000 000,0 2
Il gunusNkR3NKLLED 23 400 000,0 X




1. Eubpgbinhy dwnwynipniiubp X X 5500 000,0 X
L1 Ebbpglubl Swnwgnembbln pous | ppus | 55000000 | 5500 000,0 1,0
. niutibp,
2. Uninmbiw) Swnwjny n 5 i 300 006.0 %
win pynud
2 |Rpewpulyupupdit G opwhbnughol | o | e | 300 000,0 300 000,0 1,0
Surnuyneainibbilbn
g bk
e e X X 2 900 000,0 X
wyn pyntd
3.1 Punbpubwn b wyl X X 1920 000,0 X
300 |Plapbpisbp Gy 2OU< | ppuns | 970 000.0 970 000.0 1.0
3.1.2 Ly PLUL | g 950 000,0 950 000,0 1,0
3.2 Poguhts Yuwh Swnwinipjnibabp PLUL | npmwd | 950 000,0 950 000,0 1.0
3.3 ®nunwpl Swnwnye nitbikp PLUL | ppud 30 000,0 30 000,0 1,0
4. whnjw wh
Huppeshndingpod X X 950 000, X
Swnwynipnittibp, win pYnud
UqgnutpbLwlEh :
_ pOUC 50 000, : :
i 11 | B eunnicinids powd | 950 000,0 950 000,0 1.0
¢ [
5. Snygph b usppminpuitbph X X -« | 1700000,0 X
Jupswlhwimpn, win pymd
5p |/ Pl pupuioph eouc | npws | 17000000 | 17000000 10
YJupkwlugmpin i
7. Whwwnwluwaqih dwutwgh-
wnwluwl qupqugdwb X X 400 000,0 X
dwnwinunitibp -
7q  |Vwsepion wtébudpadh qbfusha- | by | pa | 400 000,0 400 000,0 10
Gulpwt YEpwejwppwegnd
8. Spwhuwnpuwjh
uwppwynpnuitiph ptipwghl X X 5 300 000,0 X
tnpngnud b wwhujwtined
Spwtnayrpipuht dongbtinfi
yilifulihGulywb vupuuwnldwi
821 duwnynigmbiin, wyn ednd POUL | gpwd | 5300 000,0 5300 000,0 1,0
wujwupldwl hwdwp wishpadBygy
ujupusguibbn
9. Upnwuwhdwiywy gnpdni- g - 850 000,0 x
nnuwitbph génd Swhubp
Spomnuap ppuiuLmIhR POUC 850000.0 | 850 000,0 1.0
2l Swhiukp junfhugingu) i il : 00, 4
10. USL sUhiUbr X X 6 350 000,0 X
10.1 Uy ppwghl Swiutp X X 6 350 000,0 X
19.1.1 Quiquiguutinpbbiph apwlnpngmd PoUL | gpwd | 950 000,0 950 002,0 1,0
10.1.2 Suquigiuitingbiipf hapdwpfod AL | gpwd | 900 000,0 900 000,0 1.0
Spviuolus inynobginexic ~pUe s | anoncoo,0 | 40000000 10
.13 | henduptinpnib opbbph apuhub) ape B : '
10.1.4 <O hwdwQupgh vwwuwplne 200< | ppwd | 200 0000 200 200,0 1.0




10.0.5 | Swwgnuilpul dwneymgppndibbp ACUL | ppwd | 150 .000,0 150 000,0 1.0
1016 |(twnpolugwbivbph Jepwbnnngrd ACUL | ppwd | 150 000,0 150 000,0 1.0
Il uzusTLR 0,0
CLTUUELL X X 74137 040,0




